HOMEWORK #10 probs 1 and 2 solution
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The current source in the above circuit is off for 7 < 0.
a) Find a symbolic expression for the Laplace-transformed output, V(s), in terms
of not more than R1, Ry, L, C, and values of sources or constants.
b) Choose a numerical value for Ry for the circuit in problem 1 to make
_ 1
V(@) =V, —Vv,e o1 {cos(ﬁt) + Esin(ﬁt)}
where v, o, and P are real-valued constants.
Hint: C behaves as though it is in parallel with L and R;.
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Given +the direckion of T(s) and V_=0,
Ohns [(aw :]-rres the value of V,(3):
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To Find I(3), we need initial conditjond
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Sinte there is no current, we have
Lle=) =0, v.(o") =0.
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R, L, and C are E-I'-Facfwﬂ-.l}» in parallel.



Thas, we have an I -divider
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The Laplace +transform of v, (&), as
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Fer the circudt, using Iiz) :fn-um
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Te epuate +the Lwo expressions J-ar- V{n]
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We now mateh 4he coefficients of

Rach power of 3 for both +the Ausmencior
and deaominator.
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Frem <+the last epn and the 3 ea'n,
we have

Vi (L% 8%) = v = 1/C
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From the t'ﬂd gﬂ.’n we have an expression
for A in tems oFf «:
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